FRIAOFT VAV RBRE REAMARERRE —B

BEROOHIE |KRSETOOHIBE NS F#n 4 31l B
11527 353 R4.1.27 501% B | NS
11524 352 R4.1.27 404% =i =fta
11523 351 R4.1.27 | g EI/NE
11522 350 R4.1.27 JENFE ENFE E| N
11521 349 R4.1.27 107% R il B | NS
11520 348 R4.1.27 404X = | N
11519 347 R4.1.27 |7 ENFEK E|/NE
11518 346 R4.1.27 401K B =8
11512 345 R4.1.27 501X = B
11511 344 R4.1.27 10/% K i = E| N
11510 343 R4.1.27 4018 B =8
11509 342 R4.1.27 JENFEK FENFEK E| N
11506 341 R4.1.27 104X B | NS
11505 340 R4.1.27 104X = E| N
11504 339 R4.1.27 101X g E| /N
11503 338 R4.1.27 401K FENFEK E| N
11502 337 R4.1.27 401X B | NS
11501 336 R4.1.27 404X = =#8
10925 335 R4.1.26 107% K i B EI/NE
10918 334 R4.1.26 501% = E| N
10917 333 R4.1.26 LK N [N
10916 332 R4.1.26 JENFE E| /N E| 7N
10915 331 R4.1.26 LK E| 7N E[3NE
10914 330 R4.1.26 204t gk *REL
10910 329 R4.1.26 601X =ik =HE
10909 328 R4.1.26 401X B E| 7N
10908 327 R4.1.26 104X =ik | NS
10907 326 R4.1.26 404X g E| 7N
10906 325 R4.1.26 404X B HEX
10905 324 R4.1.26 JENFE = E| 7N
10904 323 R4.1.26 LK 4 E|7NE
10903 322 R4.1.26 E| 7N = E| /N
10900 321 R4.1.26 404X B =HE
10899 320 R4.1.26 104 B E| /N
10896 319 R4.1.26 201% B =HE
10894 318 R4.1.26 201k B =Ha
10892 317 R4.1.26 1075 R iin =4 JENFE
10306 316 R4.1.25 E| 7N FENK E| /N
10300 315 R4.1.25 301t B | 7N
10295 314 R4.1.25 601t B =8
10294 313 R4.1.25 1075 R iin B | 7N
10293 312 R4.1.25 107% R it B | NS




10292 311 R4.1.25 301X = | NS
10287 310 R4.1.25 301t B =HE
10285 309 R4.1.25 106X = | NS
10283 308 R4.1.25 JENFE FENFE | 7N
10278 307 R4.1.25 301K = =8
10277 306 R4.1.25 601X B =8
10276 305 R4.1.25 301K = =8
9954 304 R4.1.24 304K B4 =fta
9953 303 R4.1.24 1048 B 24
9951 302 R4.1.24 301K B =8
9947 301 R4.1.24 104X = FHE
9946 300 R4.1.24 104% B 4
9945 299 R4.1.24 201X = |
9944 298 R4.1.24 104% =4 4
9943 297 R4.1.24 601% 4 E[/NE
9941 296 R4.1.24 106X = ok
9940 295 R4.1.24 1048 Bt =
9939 294 R4.1.24 404X = | N
9938 293 R4.1.24 4018 B NIFE
9935 292 R4.1.24 501% B =HE
9933 291 R4.1.24 201k 4 =8
9932 290 R4.1.24 601% B4 E| N
9931 289 R4.1.24 EI /N AR EI/NE
9930 288 R4.1.24 JENFE FENFEK E| N
9929 287 R4.1.24 504% 4 [N
9926 286 R4.1.24 JENFE = E| 7N
9925 285 R4.1.24 1075 K it 4 [N
9924 284 R4.1.24 201% g =8
9923 283 R4.1.24 4018 =ik =HE
9922 282 R4.1.24 104t g e
9921 281 R4.1.24 301t =ik E&RE®
9920 280 R4.1.24 401X B =8
9918 279 R4.1.24 1075 R il =ik FHE
9916 278 R4.1.24 201% B =8
9492 277 R4.1.23 101X B | NS
9491 276 R4.1.23 801X = B
9490 275 R4.1.23 1075 R iin Bit JENFE
9489 274 R4.1.23 107% R il = E| NS
9488 273 R4.1.23 1048 Bit E|7NE
9013 272 R4.1.22 104 Bit =y
9012 271 R4.1.22 104X B =HE
9011 270 R4.1.22 404X = HE
9010 269 R4.1.22 801X B4 i3
9009 268 R4.1.22 601t B HE
9008 267 R4.1.22 4018 B4 =8
9005 266 R4.1.22 106X 4 A




9004 265 R4.1.22 301k B4 =8
9003 264 R4.1.22 501% B =HE
9002 263 R4.1.22 106X 4 A
9001 262 R4.1.22 501% =i | 7N
9000 261 R4.1.22 301K = =8
8999 260 R4.1.22 201% B | 7N
8998 259 R4.1.22 201k = BEXE
8996 258 R4.1.22 201% B | N
8994 257 R4.1.22 501% = |
8993 256 R4.1.22 204% =4 tHREE
8991 255 R4.1.22 601% B E|/N
8524 254 R4.1.21 501% = T EER
8523 253 R4.1.21 106 4 A
8522 252 R4.1.21 301K B =8
8520 251 R4.1.21 4018 4 E[/NE
8519 250 R4.1.21 106X = ok
8514 249 R4.1.21 301t B BHEX
8512 248 R4.1.21 301% = | N
8510 246 R4.1.21 301t 4 =HE
8507 245 R4.1.21 501X B =#8
8506 244 R4.1.21 1075 R itk 4 EI/NE
8052 243 R4.1.20 401K B =#8
8048 242 R4.1.20 201% 4 FILINA b
8046 241 R4.1.20 201X B =#8
8045 240 R4.1.20 404X =ik | NS
8044 239 R4.1.20 JENFE E| /N E| 7N
8042 238 R4.1.20 301K B =HE
8035 237 R4.1.20 201% g EEE
8033 236 R4.1.20 [N g [N
7637 235 R4.1.19 201% = =HE
7636 234 R4.1.19 105% R i B R
7635 233 R4.1.19 301% B HEX
7633 232 R4.1.19 201% = =HE
7631 231 R4.1.19 [N g E[3NE
7630 230 R4.1.19 201k = i3
7629 229 R4.1.19 201X B HEX
7627 228 R4.1.19 JENFE g E|7NE
7626 227 R4.1.19 104 B =L
7625 226 R4.1.19 4018 E] /N E|7NE
7624 225 R4.1.19 501% = | NS
7623 224 R4.1.19 104 B 4
7345 223 R4.1.18 801X = i3
7344 222 R4.1.18 4018 B =8
7343 221 R4.1.18 4018 B =8
7342 220 R4.1.18 104 B 4




7341 219 R4.1.18 201% i 4
7340 218 R4.1.18 301K B =8
7334 217 R4.1.18 FENK B 28
7333 216 R4.1.18 FENK B 24
7332 215 R4.1.18 JENFE = GilzN::A=]
7162 214 R4.1.17 201% B =8
7161 213 R4.1.17 4018 i E-Lan—|
6981 212 R4.1.16 [N i E-Lan—|
6980 211 R4.1.16 504% i E-Lan—|
6782 210 R4.1.15 404X B =fa
6781 209 R4.1.15 404X B =8
6773 208 R4.1.15 601t N EI/NE
6616 207 R4.1.14 104% Bt E|/NE
6615 206 R4.1.14 201X B =8
6614 205 R4.1.14 201X Bt E[/NE
6613 204 R4.1.14 304X Bt EI/NE
6612 203 R4.1.14 4018 M BEE
6611 202 R4.1.14 504% M EI/NE
6610 201 R4.1.14 504X Bt E[/NE
6452 200 R4.1.13 404X = =8
6366 199 R4.1.12 204t M e
6255 198 R4.1.10 301K B NIFE
6254 197 R4.1.10 10/% K i B L
6225 196 R4.1.9 201% B =HE
6224 195 R4.1.9 301% = EEE
6223 194 R4.1.9 201% = EEE
6193 193 R4.18 [N g | 7N 3
6192 192 R4.18 201% = R
6191 191 R4.18 201X B NIFE
6152 190 R4.1.6 201K B NIFE
6105 189 R3.10.28 JENFE = R
6104 188 R3.10.28 601X B R
6102 187 R3.10.27 404X = =HE
6101 186 R3.10.27 JENFE B E|7NE
6100 185 R3.10.26 JENFE E] /N E|7NE
5912 184 R3.9.22 801t =it i3
5899 183 R3.9.21 404X B4 =HE
5883 182 R3.9.20 201% B Gilz 3=
5878 181 R3.9.19 204 Bit s
5811 247 R4.1.21 301% B =8
5772 180 R3.9.13 104 B4 =8
5615 179 R3.9.8 304K = IN—hk
5465 178 R3.9.4 107% K i B | 7N
5464 177 R3.9.4 301k B =HE




5404 176 R3.9.3 FENK B 24
5403 175 R3.9.3 FENK B 28
5402 174 R3.9.3 301K =i =18
5331 173 R3.9.2 107% K 7% Bt E|/NE
5330 172 R3.9.2 301t =4 E|/N
5272 171 R3.9.1 107% K i /N EI/NE
5271 170 R3.9.1 104 /N E|/NE
5270 169 R3.9.1 304t /N E|/N
5221 168 R3.8.31 501% = ACN
5220 167 R3.8.31 104% = FHE
5219 166 R3.8.31 301K B =18
5049 165 R3.8.28 ENF Bit ENR
4936 164 R3.8.26 301K B =18
4935 163 R3.8.26 JENF g ENR
4863 162 R3.8.25 201% = =HE
4791 161 R3.8.24 104X = =8
4790 160 R3.8.24 104X B =
4663 159 R3.8.22 104X JENFE =
4662 158 R3.8.22 404X = B
4661 157 R3.8.22 501% B4 Gilz A=
4660 156 R3.8.22 104X = =8
4580 155 R3.8.21 201% 7N =
4579 154 R3.8.21 301% B =8
4578 153 R3.8.21 201% B R
4577 152 R3.8.21 404X B4 =HE
4576 151 R3.8.21 4018 g | 7N
4486 150 R3.8.20 404X B E=gan=|
4371 149 R3.8.19 JENFE = ENK
4370 148 R3.8.19 301t g | 7N
4369 147 R3.8.19 301t B | 7N 3
4368 146 R3.8.19 804X = R
4278 145(RAFEIER) R3.8.18 104 B =
4277 144 (RAFEER) R3.8.18 201X B =HE
4276 143 R3.8.18 501% B4 =HE
4172 142 R3.8.17 104 B =HE
4136 141 (RS EEE) R3.8.16 601X g i3
4027 140 R3.8.14 801X B i3
4026 139 R3.8.14 804X g i3
3965 138 R3.8.13 107% K i Bit E[ 37N
3836 137 R3.8.11 301% g i3
3835 136 R3.8.11 ENF Bit ENR
3809 135 R3.8.10 301% B4 =8
3808 134 R3.8.10 301% B4 =8
3807 133 R3.8.10 501X = R




3769 132 R3.8.9 ENFE =i FENR
3732 131 R3.8.8 204X =i FHE
3683 130 R3.8.7 1048 B 28
3682 129 R3.8.7 104 i S4
3681 128 R3.8.7 4018 Bt E|/N
3680 127 R3.8.7 ENF g ENR
3679 126 R3.8.7 201% B =18
3678 125 R3.8.7 204X =i FHE
3677 124 R3.8.7 301t M EI/NE
3639 123 R3.8.6 404X B R IEEE
3638 122 R3.8.6 ENF g ENR
3637 121 R3.8.6 ENF Bit ENR
3636 120 R3.8.6 104% B 24
3635 119 R3.8.6 204X = FHE
3634 118 R3.8.6 104X B FH
3583 117 R3.8.5 201% B =
3582 116 R3.8.5 201% B =
3581 115 R3.8.5 201% B =
3554 114 R3.8.4 104X B FH
3553 113 R3.8.4 104X B =
3511 112 R3.8.3 201X B =8
3497 111 R3.8.2 104X B =
3466 110 R3.8.1 504% M EI/NE
3465 109 R3.8.1 1075 R 5 B | 7N 3
3408 108 R3.7.30 401X B =HE
3407 107 R3.7.30 201X [N | 7N
3343 106 R3.7.27 105% R i g R
3342 105 R3.7.27 301% = E D
3334 104 R3.7.26 [N [N | 7N
3325 103 R3.7.25 301% = GilzN::4=
3323 102 R3.7.25 404X =i JENFE
3310 101 R3.7.23 201% B NEE
3246 100 R3.7.14 301% B =tt8
3199 99 R3.7.2 301% B JENFE
2981 98 R3.6.6 JENFEK IR/ IR/
2954 97 R3.6.5 201% B JENFE
2838 96 R3.5.26 301% B4 E-ad-|
2819 95 R3.5.23 301% B4 E-ad-|
2730 94 R3.5.17 JENFEK E-gic IR/
2713 93 R3.5.16 EnE B B
2572 92 R3.5.12 104X B4 2H
2571 91 R3.5.12 501% B4 E-Zad-|
2570 90 R3.5.12 801% B - ¥ 3
2532 89 R3.5.11 101% B JENFEK




2482 88 R3.5.10 801X B4 R
2480 87 R3.5.10 301K =ik JENnFE
2396 86 R3.5.8 204X B =18
2308 85 R3.5.7 601< =i R
2307 84 R3.5.7 501% B =18
2306 83 R3.5.7 801% zZ i3
2266 82 R3.5.6 501X =i JENFE
2265 81 R3.5.6 201% Bt EEKEE
2264 80 R3.5.6 201% =4 EEKEE
2229 79 R3.5.5 301K B HEZX
2228 78 R3.5.5 301% =i =8
2168 77 R3.5.4 301K B =18
2167 76 R3.5.4 201X B =18
2109 75 R3.5.2 404X = =8
2085 74 R3.5.1 301% B =HE
2015 73 R3.4.28 201% B =8
1892 72 R3.4.24 601X B e
1891 71 R3.4.24 | 7N =i =218
1890 70 R3.4.24 | 7N =i R
1888 69 R3.4.24 2018 B 8 GEEE
1816 68 R3.4.22 301K =i E-gan-|
1780 67 R3.4.20 | 7N =i JENFE
1732 66 R3.4.17 | 7N B E-gan-|
1641 65 R3.4.2 404X =i JENFE
1446 64 R3.1.27 JENFE |7 JENFE
1370 63 R3.1.22 10/% R =i -
1342 62 R3.1.21 JENFE =i JENFE
1341 61 R3.1.21 JENFE B FEnF
1316 60 R3.1.20 2018 E-gic B
1275 59 R3.1.19 401K B =1t 8
1274 58 R3.1.19 201% B =tt8
1250 57 R3.1.18 JENFE =i =tt8
1249 56 R3.1.18 301% |7 =tt8
1248 55 R3.1.18 JENFEK E-gic IR/
1236 54 R3.1.17 JENFEK E-gic IR/
1235 53 R3.1.17 601X =i E-ad-|
1211 52 R3.1.16 JENFEK E-gic IR/
1126 51 R3.1.14 JENFEK IR/ IR/
1093 50 R3.1.13 JENFEK IR/ IR/
1064 49 R3.1.12 JENFEK IR/ IR/
1047 48 R3.1.11 JENFEK IR/ IR/
963 47 R3.1.9 JENFEK IR/ IR/
923 46 R3.1.8 3018 B4 E-Zad-|
922 45 R3.1.8 2018 B4 NEE




868 44 R3.1.7 201X B4 K
834 43 R3.1.6 501X =ik JENnFE
785 42 R3.1.5 7N JENFE R
784 41 R3.1.5 JENFEK JENFE JENFE
740 40 R3.1.4 501% B =18
658 39 R3.1.1 JEnFEK JENFE JENFE
638 38 R2.12.31 JENFEK JENFE NEE
590 37 R2.12.29 404X B JEnFE
589 36 R2.12.29 JEnFEK =i JENFE
588 35 R2.12.29 /N |/ E$ 3=
569 34 R2.12.28 JEnFE FENFEK =18
494 33 R2.12.25 301K JENFE JENFE
493 32 R2.12.25 JENFEK JENFE JENFE
471 31 R2.12.24 | 7N =i E-Lan-|
470 30 R2.12.24 JENFE B R
469 29 R2.12.24 E| 7N =i R
448 28 R2.12.23 | 7N =i REEBE
375 27 R2.12.19 601X 54 BRERES
354 26 R2.12.18 601X JENFE JENFE
346 25 R2.12.17 7018 B R
329 24 R2.12.15 | 7N =i JENFE
301 23 R2.12.12 | 7N JENFE JENFE
300 22 R2.12.12 | 7N JENFEK JENFE
299 21 R2.12.12 JENFE B FEnK
265 20 R2.11.26 JENFE |7 =tt8
260 19 R2.11.21 JENFE JENFE E-Lad-|
259 18 R.11.21 JENFE JENFE E-Lad-|
258 17 R2.11.21 JENFE |7 E-Lad-|
247 16 R2.11.6 404X B =tt8
231 15 R2.8.31 JENFE B FEnK
204 14 R2.8.24 2018 54 NEE
189 13 R2.8.18 JENFE =i 357
121 12 R2.8.4 104X |7 24
120 11 R2.8.4 104X B4 2H
119 10 R2.8.4 JENFEK IR/ IR/
17 9 R2.8.3 4018 E-gic IR/
116 8 R2.8.3 JENFEK IR/ IR/
115 7 R2.8.3 104X B4 2H
99 6 R2.8.2 104X B4 2H
96 5 R2.8.2 104X JENFEK 2H
95 4 R2.8.2 106X =i FHE
94 3 R2.8.2 104X B4 2H
76 2 R2.8.1 104X B4 2H
2 1 R2.3.25 2018 B4 REAE




